

**10/17/2025** 09:00 AM | Delivery Day 1 **10/18/2025** 09:00 AM | Delivery Installation day 2

10/18/2025 05:00 PM | Event starts 10/19/2025 08:00 AM | Strike Sunday P0:

**Shipping Address:** 

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Ceremony					
\$ 100 miles	Pendant Lamp - Bali - String Weave 17"W x 22"H - 3LB -25 Watts	45	\$100.00	Т	\$4,500.00
			Total Cerem	ony	\$4,500.00
Cocktail Hour	lower Area				
	Bars - Bora Bora - Wood & Rattan Square Full Set Bar Frame painted black with printed inserts - Print tp Be Provided by client Revelry to Print 12'W x 12'L x 44"H	1	\$4,000.00	Т	\$4,000.00
	Barback - Round Metal Frame painted black	1	\$300.00	Т	\$300.00
	Sofas - Cartagena - White Linen - Black Frame W/ Rattan 87" W x 33" D x 29" H	4	\$460.00	Т	\$1,840.00
	Club & Lounge Chairs - Cartagena - Black Wood W/ Rattan 32"W x 33"D x 29"H	8	\$287.50	Т	\$2,300.00
***	Coffee Tables - Maui - Mango Wood - Smooth Black 24" Diam x 16"H	4	\$230.00	T	\$920.00
	Coffee Tables - Maui - Smooth Wood - Black	4	\$230.00	Т	\$920.00
	Ottomans - Standard Pod como olive 18"RND x 17"H - Cover Color Upon Request	12	\$34.50	Т	\$414.00
FI	Benches - Lyon - Natural & Wood we are using only the cushions on Stair case 5.9'W x 16"L x 18"H	12	\$30.00	Т	\$360.00
	Mix and match Pillows - Stair Case and Furniture	116	\$25.00	Т	\$2,900.00
	Club And Lounge Chairs - Black Iron & White 28"W x 31"D x 33"H	6	\$207.00	Т	\$1,242.00

escription		Qtty	Price		Total
	Stand Up Tables - Palm Springs - White Wire W/ White Glass Top	4	\$138.00	Т	\$552.00
	29âN N Diam 41âN N H				
	Small Dining Tables - Palm Springs - White Wire W/ Glass Top	6	\$184.00	Т	\$1,104.0
	35"1/2 W x 29â\\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \				
	Garden Dining Chairs - Flower Wire - Multicolor Painted in Black with White Cushion 23" x 23" x 34"h	24	\$35.00	T	\$840.00
		Total Cocktail Hour lower Area			\$17,692.00
ocktail Hour U	pper Deck				
REE	Bars - Mid Century - Multicolor 8' (place on upper deck) Frame painted black with printed inserts 8'L x 31 1/4" W x 42" H	1	\$900.00	Т	\$900.00
	Barback - Tokyo - Straight Basic 8' X 6'5""h - Metal Frame painted black 8'W x 18"D x 6'5""H	1	\$310.00	Т	\$310.00
	Club & Lounge Chairs - Mindi Wood - Black And Off White	8	\$250.00	Т	\$2,000.00
	27"W x 25"D x 27"H				
	Ottomans - Standard Pod in olive como Velvet 18"RND x 17"H - Cover Color Upon Request	8	\$34.50	T	\$276.00
	Coffee Tables - Maui - Mango Wood Ribbed - Black	2	\$230.00	T	\$460.00
	28" Diam x 16"H				
	Accent Tables - Maui - Smooth Wood - Black	4	\$172.50	Т	\$690.00
	Stand Up Tables - Palm Springs - White Wire W/ White Glass Top 29â  B Diam 41â B H	3	\$138.00	T	\$414.00
	Small Dining Tables - Palm Springs - White Wire W/ Glass Top	2	\$184.00	Т	\$368.00
	35"1/2 W x 29â\\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \				
	Garden Dining Chairs - Flower Wire - Multicolor Painted in Black with White Cushion 23" x 23" x 34"h	8	\$35.00	Т	\$280.00
<u>-</u>		Total Cockta	Fotal Cocktail Hour Upper Deck		\$5,698.00
eception Drap					

	Qtty	Price		Total
Fabric treatment In Velvet Tamara to Cover ballroom 400'x 12'H with Valance	1	\$7,500.00	T	\$7,500.00
	То	tal Reception Dra	аре	\$7,500.00
g Table				
Dining Table - Florence - Round Wood 72" See diagram where will they be place 72"Diam x 30"H	4	\$460.00	T	\$1,840.00
	Total Red	eception Dining Table		\$1,840.00
ture option 1				
Accent Tables - Round Mango Wood 18"d x 20"H	4	\$172.50	T	\$690.00
Ottomans - Standard Pod	14	\$34.50	T	\$483.00
18"RND x 17"H - Cover Color Upon Request				
Mix and Match Pillows	10	\$25.00	Т	\$250.00
Sofas - Stockholm - Light Brown Leather 81"W x 35"L x 26"H	2	\$460.00	Т	\$920.00
Club & Lounge Chairs - Stockholm - Club Chair Red W/ Wood Frame Green Cover 29"W x 25"L x 30"H	4	\$172.50	T	\$690.00
Coffee Tables - Mid - Century Teak Wood	4	\$172.50	Т	\$690.00
42" x 22" x 18.5"H				
Club & Lounge Chairs - Upholestered - Ginger To Be at entrance Lounge 32.5"W x 31"D x 31"H - Seat Height 18"H	4	\$250.00	T	\$1,000.00
To	tal Receptio	n Furniture optio	n 1	\$4,723.00
ture Option 2				
Sofas - Basketweave Fabric - Ginger	2	\$450.00	Т	\$900.00
99.5"W x 44.5"D x 31" - Seat Height 16.5"				
Club & Lounge Chairs - Basketweave Fabric & Ash Wood - Brown	4	\$250.00	Т	\$1,000.00
26"W x 33.5"D x 30"H				
Accent Table - Nice - Chrome Frame to Be sued as Accent tables and Coffee tables nesting	14	\$69.00	Т	\$966.00
21"W x 25"L x 37"H				
	g Table  Dining Table - Florence - Round Wood 72" See diagram where will they be place 72'Diam x 30"H  ture option 1  Accent Tables - Round Mango Wood 18'd x 20"H  Ottomans - Standard Pod 18'RND x 17"H - Cover Color Upon Request  Mix and Match Pillows  Sofas - Stockholm - Light Brown Leather 81"W x 35"L x 26"H  Club & Lounge Chairs - Stockholm - Club Chair Red W/ Wood Frame Green Cover 29"W x 25"L x 30"H  Coffee Tables - Mid - Century Teak Wood 42" x 22" x 18.5"H  Club & Lounge Chairs - Upholestered - Ginger To Be at entrance Lounge 32.5"W x 31"D x 31"H - Seat Height 18"H  To  ture Option 2  Sofas - Basketweave Fabric - Ginger 99.5"W x 44.5"D x 31" - Seat Height 16.5"  Club & Lounge Chairs - Basketweave Fabric & Ash Wood - Brown 26"W x 33.5"D x 30"H  Accent Table - Nice - Chrome Frame	Fabric treatment In Velvet Tamara to Cover ballroom 400'x 12'H with Valance  To g Table  Dining Table - Florence - Round Wood 72" See diagram where will they be place 72"Diam x 30"H  Total Rec  ture option 1  Accent Tables - Round Mango Wood 18"d x 20"H  Ottomans - Standard Pod 18"RND x 17"H - Cover Color Upon Request  Mix and Match Pillows 10  Sofas - Stockholm - Light Brown Leather 2 81"W x 35"L x 26"H  Club & Lounge Chairs - Stockholm - Club Chair Red W/ Wood Frame Green Cover 29"W x 25"L x 30"H  Coffee Tables - Mid - Century Teak Wood 42" x 22" x 18.5"H  Club & Lounge Chairs - Upholestered - Ginger 10 Be at entrance Lounge 32.5"W x 31"D x 31"H - Seat Height 18"H  Total Reception  ture Option 2  Sofas - Basketweave Fabric - Ginger 2 99.5"W x 44.5"D x 31" - Seat Height 16.5"  Club & Lounge Chairs - Basketweave Fabric & Ash Wood 4 - Brown 26"W x 33.5"D x 30"H  Accent Table - Nice - Chrome Frame 14	Fabric treatment In Velvet Tamara to Cover ballroom   1   \$7,500.00	Fabric treatment in Velvet Tamara to Cover ballroom

Description		Qtty	Price		Total
Reception Furnit	cure Option 3				
	Club & Lounge Chairs - Lisbon - Club Chair Yellow Velv	et 2	\$299.00	Т	\$598.00
	4â⊠ ₪ ₩33â₪ ⊠ ±36â₪ ₪ HWith One Matching Pillow				
	Club & Lounge Chairs - Lisbon - Club Chair Orange Velvet	2	\$299.00	Т	\$598.00
	4â® № ₩33â® № ±36â® № HWith One Matching Pillow				
	Sofas - Lisbon - Yellow Velvet	1	\$460.00	Т	\$460.00
	8'W x 33â® № ±36â® № HWith Two Matching Pillows				
G P	Sofas - Lisbon - Orange Velvet	1	\$460.00	Т	\$460.00
	8'W x 33â® № ±36â® № HWith Two Matching Pillows				
<u></u>	Club & Lounge Chairs - Lisbon - Side Chair Yellow Velve	et 2	\$230.00	Т	\$460.00
	30da a w 27da a 230da a 11				
	Club & Lounge Chairs - Lisbon - Side Chair Orange Velvet	2	\$230.00	Т	\$460.00
	30âÑ Ø <b>₩</b> 27âÑ Ø <b>±</b> 33âÑ Ø h				
		Total Reception	Furniture Optic	on 3	\$3,036.00
other Elements					
	Custom Made Bar Skirt For Existing Bar A Tamara Como Velvet 255"x 34"H	1	\$70.00	Т	\$70.00
	Custom Made Bar Skirt For Existing Bar B Tamara como Velvet 123"x 40"H	1	\$50.00	Т	\$50.00
	Custom Made Bar Skirt For Existing Bar C Tamara como velvet 220"x 34"H	1	\$70.00	Т	\$70.00
	Custom Made Bar Skirt For Existing Bar D 125"x 40"H	1	\$50.00	T	\$50.00
	Area Rugs - Shag - Infinity Pearl Off White 8' x 10'	4	\$190.00	T	\$760.00
	Table Lamps - Antique Brass 6" 1/4W x 16"H - Dimmable & Cordless	48	\$30.00	Т	\$1,440.00
	Custom Made Table Lamp Shade Printing Pop In to provide Artwork- Revelry to print	48	\$0.00	T	\$0.00
	Lamp Shades Mix and Match Sizes and in Colors burn Orange	t 65	\$70.00	T	\$4,550.00
	Custom Made Cushion Cover with Names Oatmeal Cover for Client Cushions with Iron On Names	230	\$5.00	Т	\$1,150.00

Description		Qtty	Price	Total
		T	otal other Elements	\$8,140.0
Stage Backdr	ор			
	28'Lx10'H Lasercut stage backdrop	1	\$0.00	T \$0.0
	Lasercut pattern to replicate Parker Hotel in Palm Springs - painted arcade white			
		To	otal Stage Backdrop	\$0.0
Bakery				
	Barbacks - Oblong - 4'w - Multicolor	2	\$750.00	T \$1,500.0
	For bakery - painted in cherry wood color			
<b>U</b>	4'W x 18"D x 10'H - Custom Color and decal upon request			
	Panels 6'w x 4"D x 10'H	1	\$650.00	T \$650.0
	to go in between oblongs For bakery - painted in cherry wood color			
			Total Bakery	\$2,150.0
Services				
	installation Day 1 Friday	8	\$650.00	\$5,200.0
	Installation Day 2	6	\$650.00	\$3,900.0
	Strike Team	8	\$650.00	\$5,200.0
	Transportation	4	\$350.00	\$1,400.0
	Pick up Rental houses Clean Product and returned	1	\$350.00	\$350.0
	Printing	1	\$0.00	\$0.0
Please make c	hecks payable to Revelry, Inc.		Total Products	: \$58,145.0
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Total La	bor/Services/Misc	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Wear & Tear (0.00%):		
-	Packing (0.00%):			
lotes		Taxes (tax excempt):		: \$0.0
			Discounts	: (\$41,748.0
			Total	• •
			Payments	,
			Balance	: \$32,447.0